Student Name: Marks: /68

Teacher’s Name: (Circle your teacher) Satendra / Beata / Kirtana

Wyndham College
Mathematics Department

NIRIMBA

ASSESSMENT TASK 1
Topic Review
Year 11 2021
MATHEMATICS ADVANCED

Assessment Date: Term [ Week 8
Thursday 18™ March
Assessment Value: 30%

Instructions:
Question Marks
e Working time: 1 hour minutes plus 10 minutes
reading .
e Write using blue or black pen Q?jjit;gg 1 12
e Show all necessary working
e Marks may be deducted for careless or Question 2 19
badly arranged work Algebra
e Approved calculators may be used .
e Multiple choice questions to be answered Question 3 /8
on the examination paper by circling the Surds
best alternative of your choice. Question 3
e Start each question on a new booklet. Equations /26
o Clearly label each booklet with the question
number, your name and your teacher’'s name Total /68
(Even if you don't attempt the question)

QOutcomes assessed:
o MAI11-1
uses algebraic and graphical techniques to solve,
and where appropriate, compare
alternative solutions to problems




Question1 Indices Marks

a) Simplify

. ab*
1. 1 Mark

............................................................................................................

L 1 Mark

b) Write in index form with no indices in the denominator.

. 3
1. AY, x4 1 Mark

..............................................................................................

-
6(3x+8) 9

c) Write without indices. — s 2 Marks




d) Solve 32"+1%= 27 2 Marks

.......................................................

Question 2 (Take a new page and write your name, the question number and your

teacher’s name.)

Algebra
a) Expand and simplify
1. (4x—3)? 2 Marks
........................ ‘Lll_2+7¥+q
1. (3x—4)(3x +4) 2 Marks
.......................... A o
b) Factorise
2 Marks
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1. 4y*+4y-3 | _ 2 Marks
..................... Fkxé%J:QAS.:Jbtntf3“.““.““(§1f5f@)”C2g§313;“”“n““"”“_”“n
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fii. omt12a44 (9 2 Marks
................. R 4. fo bbb ++J'>@mu; & PUEL S
............... Ba( 3o \...r..z(z.@&.a,)......... ERE =

1IV.  4a’-81b? 2 Marks

c) Simplify
. 2 _ 7

x2-16 x2 -x—-12

.............................................................................................................

................................................................

.............................................................................................................

...................................................

(49 +9) @y



. x?—8x+15 | x2-9 x%+5x+6
11. - X 3 Marks
5x2+10x 10x 2x—10

...........................................................................................................

.............................................................................................................
............................................................................................................
..............................................................................................................

.............................................................................................................

Question 3(Take a new page and write your name, the question number and your
teacher’s name.)

Surds
a) Rationalise the denominator \\//_’j-_l-i b :\\_S;)-g—i——:- 2 Marks
OSSO et -9 1 Y= W OO
= i ¢J2 . —19

5 ~—|
¢) Find nif 2v/8++200 = vn




d) (B3v7-2)° 2 Marks

Equations
. 3V
e) 1 The radius r of a sphere with volume V is given by the formula » = ’ p
What is the volume of a sphere of radius 4 cm? Answer correct to 2 decimal places. 2 Marks
. \ _ \ 2
‘)»?: ..___._3‘/ e L(;_V\’r ola = W
............................. s i‘rj3 g D
43 = v Vs Gt (4)

3/1 12 1) 12 =
Solve: ii (%)—%):(9) = 2679 LB 2 Marks

i 4-x-1) <7 2 Marks
......................... e e S T e
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..................................... B B et eSS PRS2 51
........................................ e e,

iv  |3b-1]=5 2 Marks



2 Marks

................. K=\ .(,2\,.&.\. = « TR
_ x|

vVl 5x-x2=0 2 Marks
..................... 1/( ) T e
TR OO o0 JOUNN -3 oo OO RUO U

Vil (x+3)* =11 2 Marks

- ~-\—j i
......................... 0, S5 o Ty ¥ 5 | OO OSSOSO OSSR
.............................. o S 159 1Y

IX x*-5x-6=0 2 Marks
........................ (3628 (3. Qe
UUTOSURURSL &5~ SNE -3 SWvtl (SRRSO oSSR
e) Solve by completing the square %% —10m—3=90 2 Marks
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f) Solve by using the quadratic formula 3x2-8x+2=0

2 Marks
.............. e e R e T - Wi D
5
= & : | by- (3)@ ,.
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End of paper



